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movie in the month which has 30 days.There are three
persons watching movie between F and C. H watches
the movie just before A, who is watching the movie

before B. B watches the movie just before C.H is
watching the movie in the month which has maximum

number of days but not in January. D is watching the
movie in the month which has 30 days. G is watch

HmaﬁﬁA

May, June, July, August, October and December but not
necessarily in the same order. F was going to watch

Eight persons A,B,C,D,E F, G and H are going to
watch movie in different months i.e. January, April,

the movie after D
B, C
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Eight persons A,B,C,D, E F, G and H are going to
watch movie in different months i.e. January, April,
May, June, July, August, October and December but
not necessarily in the same order. F was going to
watch movie in the month which has 30 days.There
are three persons watching movie between F and C.
H watches the movie just before A, who is watching
the movie before B. B watches the movie just before
C. H is watching the movie in the month which has
maximum number of days but not in January.D is
watching the movie in the month which has 30 days.
G is watching the movie after D.

Which of the following statement is true as per the
given information?

01.D is going to watch movie after F

02.Two persons are watching movie between G and B
03.B is watching the movie in January
04.A is watching the movie in August
05. None is true
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Eight persons A,B,C,D, E F, G and H are going to
watch movie in different months i.e. January, April,
May, June, July, August, October and December but
not necessarily in the same order. F was going to
watch movie in the month which has 30 days.There
are three persons watching movie between F and C.
H watches the movie just before A, who is watching
the movie before B. B watches the movie just before
C. H is watching the movie in the month which has
maximum number of days but not in January.D is
watching the movie in the month which has 30 days.
G is watching the movie after D.

If E is related to F and H is related to C then in the
same way D is related to which of the following?
Ol.H

02.F

03.C

04.B

05.A
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Eight persons A,B,C,D, E F, G and H are going to
watch movie in different months i.e. January, April,
May, June, July, August, October and December but
not necessarily in the same order. F was going to
watch movie in the month which has 30 days.There
are three persons watching movie between F and C.
H watches the movie just before A, who is watching
the movie before B. B watches the movie just before
C. H is watching the movie in the month which has
maximum number of days but not in January.D is
watching the movie in the month which has 30 days.
G is watching the movie after D.

The number of persons watching the movie between
D and F is same as between B and __.
Ol.E

02.F

03.H

04.A

05. None of these
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Eight persons A,B,C,D, E F, G and H are going to
watch movie in different months i.e. January, April,
May, June, July, August, October and December but
not necessarily in the same order. F was going to
watch movie in the month which has 30 days.There
are three persons watching movie between F and C.
H watches the movie just before A, who is watching
the movie before B. B watches the movie just before
C. H is watching the movie in the month which has
maximum number of days but not in January.D is
watching the movie in the month which has 30 days.
G is watching the movie after D.

Four of the following five are alike in a certain way
and hence they form a group.Which one of the
following does not belong to that group?

ol.H

02.D

03.C

04.B

05.G
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Eight persons A,B,C,D, E F, G and H are going to
watch movie in different months i.e. January, April,
May, June, July, August, October and December but
not necessarily in the same order. F was going to
watch movie in the month which has 30 days.There
are three persons watching movie between F and C.
H watches the movie just before A, who is watching
the movie before B. B watches the movie just before
C. H is watching the movie in the month which has
maximum number of days but not in January.D is
watching the movie in the month which has 30 days.
G is watching the movie after D.

How many persons are watching the movie between
B and D?

0l.Five

02.Three

03.Four

04.Two

05.None
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TAP NOT MAT PQR STB
If the given words are arranged in the order
as they appear in a dictionary from right to

ill be second

ing wi

left, which of the follow

from the left end?

Y e

R

05. None of these

01.MAT
02. NOT
03.STB
04.TAP
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TAP NOT MAT PQR STB

If in each of the word given, the second alphabet

Iphabet and the

ing a

y vowels
kg
a.U:.

laced by its follow
third alphabet is replaced by its preceding

thout an

then how many words thus formed will be
?
GakeL:
it qu
fa=

alphabet as per the English alphabetical order,

is rep

wi

01. None
02. One
03.Two

04.Three

05

Four
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TAP NOT MAT PQR STB

How many letters are there in the English

the word which is second from the left end and
the second letter of the word which is third from

alphabetical series between the third letter of
the right end?

q & dIY
‘«’rg;% ER P

q

quigTen §
01. 20
02. 19

05. None of these

03. 18
04. 17
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interchanged,

iven are

h of the words g

TAP NOT MAT PQR STB

If the positions of the first and the third alphabet

in eac
then how m

.M
Sik

f
qq
e

TP T
H 9¢d feu

gf¢ feu 7w

T I

?
01. Two
02.0ne
03. Four
04.Three
05. None
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TAP NOT MAT PQR STB

If in each of the given words, every consonant is
changed to its previous letter and every vowel is

changed to its next letter according to the

English alphabetical series, then in how many
words, thus formed, at least one vowel will

01. None
02. One
03.Two

04.Three

05

None of these
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighhour of J. P faces inside.
mm@gmﬁ F,1.K, M, N,P.S 33V T& THR
S dnea i Sy
| RSk R b
3R U & 7 Y3 TR ] 49 g P T 3|
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
How many persons are sitting between F and ] when
counting from the left of F?

01.0One

02.Two

03.Three

04. Four

05. More than four
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Which of the following statement is true?

01.P sits second to the left of V

02. N is an immediate neighbor of S

03.Two persons sit between P andV

04. M sits opposite to N

05. ] sits opposite to K.
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Four of the following five are alike in a certain way and
hence form a group, which of the following does not belong
to the group?

01.S

02.F

03.)

04.K

05.N
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Who among the following is sitting opposite to P?

0LV

02.)

03.F

04.M

05. None of thes
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Eight personsi.e.F,J, K, M, N, P,S andV are sitting around a
square table. Four of them are sitting at the corners and
remaining are sitting at the middle side of the table.The
persons sitting at the corners faces away from the center
and the persons sitting at the middle sides of the table
faces towards the center.All the information is not
necessarily in the same order. F sits at the middle side of
the table. N sits at the immediate left of V.Two persons sit
between F and ).V sits at the immediate right of . Three
persons sit between S and N. M is an immediate neighbour
of S. M is not an immediate neighbour of J. P faces inside.
Who among the following is sitting second to the left of M?
ol.P

02.V

03.)

04.F

05. None of these
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Point C is I5m in the east of point F. Point A is
|0m west of point B which is | 5m north of point

H. Point D is | 5m west of point E. Point B is I5m
south of point C. Point E is 5m east of point H.

Point G_is I5m north of

G i
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Point C is I5m in the east of point F. Point A is
|0m west of point B which is | 5m north of point

H. Point D is | 5m west of point E. Point B is I5m
south of point C. Point E is 5m east of point H.

Point G is I 5m north of point A.

In which direction and at what distance is point G

from point C?

Ol. 10m east
02.5m, east

03. 10m, west
04.5m, west

05. None of these
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th respect to

ion wi

Irect

ISsINw

?

tA

Point C is I5m in the east of point F. Point A is
poin

|0m west of point B which is | 5m north of point
H. Point D is | 5m west of point E. Point B is I5m

south of point C. Point E is 5m east of point H.

Point G is I 5m north of point A.
hich d

Point D

0l.South

02. North

03. North-East
04.West

05. None of these
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Int

th respect to po

ion wi

Irect

ISsinNw

Point C is I5m in the east of point F. Point A is

|0m west of point B which is | 5m north of point
H. Point D is | 5m west of point E. Point B is I5m

south of point C. Point E is 5m east of point H.

Point G is I 5m north of point A.
hich d

Point F
E?

0l. North-East
02. South-West

03. South-East

04. North-West

05. None of these
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Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to
Kolkata. B belongs to Ahmedabad. C does not
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There are seven persons i.e.A,B,C,D,E,F and G.
belong to Kolkata and Lucknow. G belongs to

Mumbai. A does not belong to Lucknow and
i

They all belongs to different c
Chennai.
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A
G
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T
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.e. Kolkata,

ies i

Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to

There are seven persons i.e.A,B,C,D,E,F and G.
Kolkata. B belongs to Ahmedabad. C does not

They all belongs to different c

belong to Kolkata and Lucknow. G belongs to
Mumbai. A does not belong to Lucknow and

Chennai.

Who among the following belongs to Kolkata?

01.A

02.D

03.F

04.G

05. None of these
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.e. Kolkata,

ies i

Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to

There are seven persons i.e.A,B,C,D,E,F and G.
Kolkata. B belongs to Ahmedabad. C does not

They all belongs to different c

belong to Kolkata and Lucknow. G belongs to
Mumbai. A does not belong to Lucknow and

Chennai.

Which of the following statement is true?

01.A belongs to Chennai
02. G belongs to Delhi

03. E belongs to Kolkata
04. F belongs to Pune
05. None of these
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.e. Kolkata,

ies i

Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to

There are seven persons i.e.A,B,C,D,E,F and G.
Kolkata. B belongs to Ahmedabad. C does not

They all belongs to different c

belong to Kolkata and Lucknow. G belongs to
Mumbai. A does not belong to Lucknow and

Chennai.

F belongs to which of the following City?

0l. Chennai

02. Mumbai
03. Delhi

04. Lucknow

05. None of these
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.e. Kolkata,

ies i

Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to

There are seven persons i.e.A,B,C,D,E,F and G.
Kolkata. B belongs to Ahmedabad. C does not

They all belongs to different c

belong to Kolkata and Lucknow. G belongs to
Mumbai. A does not belong to Lucknow and

Chennai.

ing city?

A belongs to which of the follow

0l.Delhi

02. Mumbai
03. Kolkata

04. Chennai

05. None of these
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.e. Kolkata,

ies i

There are seven persons i.e.A,B,C,D,E,F and G.

They all belongs to different c

Mumbai, Chennai, Pune, Lucknow,Ahmadabad
and Delhi but not necessarily in the same order.
D belongs to Pune. Neither A nor F belongs to
Kolkata. B belongs to Ahmedabad. C does not

belong to Kolkata and Lucknow. G belongs to
Mumbai. A does not belong to Lucknow and

Chennai.

is true?

ion iIs

Which of the following combinat

01.A Delhi
02. D Pune

03. E Kolkata

04.All are correct

05.All are incorrect
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itten as ‘laa sii aaa koo’

IS Wri

‘Big Bear Group Danger’

(X ] ’

gee jaa sil aaa

‘Danger Bear Find Hunt’ is written as*

fuu koo’

sii jaa

tten as ¢

‘Danger Big Bear Find’ is written as ‘laa

is wri

‘Find Group And Danger’

jaa sii aaa

?

itten in that code language

How will ‘Find’ be wr

Ol.jaa
02. gee

03.laa

. Sii
05. None of these

04



TS

SRR
s

SR
%ﬁfzﬂﬂ”

g X
g

R
&
e

b
Wﬁrfﬂg

_ é@.ﬂ%
Hradinw
&

éﬁ/ﬁmn..
?J{%
R
=

é.?f;%e
RN

1

i

Y

ﬂ/ﬂ;mruamfffa&
PR

S
oy

SRy,
¥
SR R
€N
SRR,
S B
N///ﬁ
8§

3
ol

o ]
£
HlaoSew

—
Hradinw

Y

o

a

w../f&?ﬁ
= .n?ﬂ/,.
£
Sl
RN

itten as ‘laa sii aaa koo’

IS Wri

‘Big Bear Group Danger’

(X ] ’

gee jaa sil aaa

‘Danger Bear Find Hunt’ is written as*

fuu koo’

sii jaa

tten as ¢

‘Danger Big Bear Find’ is written as ‘laa

is wri

‘Find Group And Danger’

jaa sii aaa

What will be the code for ‘Big’ in that code language?

05. None of these

Ol.jaa
02. fuu

03.laa
04. aaa
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koo’

Il aaa

tten as‘laa s

‘Danger Bear Find Hunt’ is written as*

is wri

‘Big Bear Group Danger’

(X ] ’

gee jaa sil aaa

tten as ¢

‘Danger Big Bear Find’ is written as ‘laa

fuu koo’

sii jaa

is wri

‘Find Group And Danger’

jaa sii aaa

‘jaa koo gee’ is stand for

O0l.Find Big Bear

02. Danger Bear And
03. Group Danger Big
04. Find Danger And
05. None of these
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itten as ‘laa sii aaa koo’

IS Wri

‘Big Bear Group Danger’

(X ] ’

gee jaa sil aaa

‘Danger Bear Find Hunt’ is written as*

fuu koo’

sii jaa

tten as ¢

‘Danger Big Bear Find’ is written as ‘laa

is wri

‘Find Group And Danger’

jaa sii aaa

‘What will be the code for ‘Bear’ in that code

language?

. Sii
05. None of these

Ol.jaa
02.aaa
03. koo

04
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itten as ‘laa sii aaa koo’

IS Wri

‘Big Bear Group Danger’

(X ] ’

gee jaa sil aaa

‘Danger Bear Find Hunt’ is written as*

fuu koo’

sii jaa

tten as ¢

‘Danger Big Bear Find’ is written as ‘laa

is wri

‘Find Group And Danger’

jaa sii aaa

What will be the code for ‘Danger’ in that code

language?
Ol.jaa
02. gee
03. fuu

. Sii
05. None of these

04
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odd numbered floor but does not live on the 3rd floor.

diately below X. More than two person

lives between Z andY. There are six person living

Iives imme
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There are eight persons namely S, T, U,V,W, XJY and
Z live on eight different floors from one to eight.The
ground floor is number | and the top floor is number
8 but not necessarily in the same order. X lives on an
odd numbered floor but does not live on the 3rd floor.
Z lives immediately below X. More than two person
lives between Z and Y.There are six person living
between S and Y.V lives immediate above W but live
below T. U does not live above X.W does not live
immediate above.

How many persons live between W and X?

0l.One

02.Three

03. Five

04.Two

05. None of these
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There are eight persons namely S, T, U,V,W, XJY and
Z live on eight different floors from one to eight.The
ground floor is number | and the top floor is number
8 but not necessarily in the same order. X lives on an
odd numbered floor but does not live on the 3rd floor.
Z lives immediately below X. More than two person
lives between Z and Y.There are six person living
between S andY.V lives immediate above W but live
below T. U does not live above X.W does not live
immediate above.

Who lives on floor number five?

0ol1.U
02.S
03.Z
04.T
05. None of these
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There are eight persons namely S, T, U,V,W, XJY and
Z live on eight different floors from one to eight.The
ground floor is number | and the top floor is number
8 but not necessarily in the same order. X lives on an
odd numbered floor but does not live on the 3rd floor.
Z lives immediately below X. More than two person
lives between Z and Y.There are six person living
between S and Y.V lives immediate above W but live
below T. U does not live above X.W does not live
immediate above.

Four of the following five are alike in a certain way
based on the given arrangement and thus form a
group.Which is the one that does not belong to that
group?

0l.Y
02.v
03.T
04. X
05. W
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There are eight persons namely S, T, U,V,W, XJY and
Z live on eight different floors from one to eight.The
ground floor is number | and the top floor is number
8 but not necessarily in the same order. X lives on an
odd numbered floor but does not live on the 3rd floor.
Z lives immediately below X. More than two person
lives between Z and Y.There are six person living
between S andY.V lives immediate above W but live
below T. U does not live above X.W does not live
immediate above.

Who lives immediate above V?

01.Z

02.T

03.Y

04.W

05. None of these
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There are eight persons namely S, T, U,V,W, XJY and
Z live on eight different floors from one to eight.The
ground floor is number | and the top floor is number
8 but not necessarily in the same order. X lives on an
odd numbered floor but does not live on the 3rd floor.
Z lives immediately below X. More than two person
lives between Z and Y.There are six person living
between S and Y.V lives immediate above W but live
below T. U does not live above X.W does not live

immediate above.
Who lives on 2nd floor?

01.X
02.S
03.U
04.Z
05. None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
Chennai. One of the persons visits Jaipur.

Who among the following goes on |16th March?

(a) The one who goes to Jaipur

(b) A

(c) F

(d) The one who goes to Pune

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
Chennai. One of the persons visits Jaipur.

The one who goes on 7th May, goes to which city?

(a) Jaipur

(b) Chennai

(c) Indore

(d) Pune

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
Chennai. One of the persons visits Jaipur.

Which of the following statement is not true about E?

(a) B goes just before E

(b) E goes to Pune

(c) Only two persons go between E and F

(d) More than one person goes between E and D

(e) Both (b) and
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
Chennai. One of the persons visits Jaipur.

Which of the combination is true?

(a) D-7th March

(b) B- Jaipur

(c) C- 16th April

(d) D-Varanasi

(e) None of these
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Six persons are going to the six different cities on two
different dates i.e. 7th and 16th of three different months i.e.
March, April and May of the same year. B goes in the month
which has an odd number of days and on odd number date.
Two persons go in between B and the one who goes to Pune.
Only two persons go after the one who goes to Varanasi. A
goes to Delhi on an odd-numbered date. Only one person
goes between A and F. As many people who go before F, as
many people go after C. More than two persons go in
between D and the E who goes to Indore. F does not go to
Chennai. One of the persons visits Jaipur.

Who among the following person goes to Varanasi?

(a) D

(b) C

(c) F

(d)B

(e) None of these
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How many females are there in the family?
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the only son of D. The only

Six members of a family E, K, O, FDand W
Unmarried sister-in-law of E is W who has

are related to each other. E is the father of
If Q is married to K then how is Q related

no brother. O is the only sibling of E. F is
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